ABO009

A 1
1
2
3
4
5
A 2 150 MHz
1 44 cm 56 cm
A 3 2 ()
1 0.15 m? 0.23 m?
A 4
(1)
(2)
(3) G, dB
A B C
1 G,- L
2 G,+L
3 G,- L
4 G,+L
5 G,- L
A 5 a m
1 2a
2
3 A m
4
5
A 6

0.18 0.25 0.33

B
25 30
975 Q 1.5
64 cm 4 78 cm 5 90 cm
200 MHz
0.30 m? 4 0.36 m’ 5 052 m?
1]
1]
L dB G dB | dB
TE,,
2
M a-(area)T ™
( ) 1.125 ()
4 0.55 5 0.75

(AB009-1)



g B~ W DN PP

(1)
(2)
(3)

(1)

(2)

(3)

a b~ W N B

10

g b~ W N P

(AB009-2)



A 11 1]
(1) 1]

(2)
(3)

A 12 1]
(1) S

(2)
(3) ¢

a b~ W N B

A 13 MUF LUF [ ]

(1) MUF 1] [ ]
(2) LUF 1]

A B C

A 14 4 MHz

1 225 m 300 m 450 m 4 600 m 5 900 m

A 15 36 Q 6 Q 75 %

1 2 Q 4 Q 6 Q 4 8 Q 5 10 Q

(AB009-3)



A 16 ]

]
(1)
360
(2)
360
3 @ (2)
A B C
1 ( )
2
3 ( )
4
5 ( )
A 17 60 MHz 20 mV/m
2
1 35 uWw 45 pwW 56 pWw 4 71 uyW 5 92 pw
A 18 10 pF/m 2.5 p H/m
100 MHz
1 =n/4 rad/m n/?2 rad/m . rad/m 4 3n/2 rad/m 5 2x rad/m
A 19 ]
(1) ]
(2) ]
(3) ]
A B C
1 8
2
3
4
5 8
A 20 3 dB 20 km
3.5 mV/m
1 20 W 30 W 40 W 4 50 W 5 60 W

(AB009-4)



P W P, W P, /P,
2 ]
(1) 1 1 2

] ]
1 2
N,
N, N, 1 2 Z, Q
z, Q 2,/2,=[ ] z
1
1
(2) 1] ( VHF )
T
3) 1 > ] 2 ° °
1 1 T 2
1 2 3 4 5 (N,/N,)? o
6 7 4 1 8 (N,/N,)? 9 10 9 : 4 2 777
3
1 1

(1) 1/4 1]
(2) 15 ] dB
(3) ]
(4) ]
(5) ]
1 2 20 3 4 5 VHF SHF
6 7 10 8 9 10 ( MF ) HF

(AB009-5)



]
A m d m
(D SW
P W
P, W/m’
Gs ( ) Ps
Ps = Py Gs x l:| w
(2) SwW
P W
Gx () Py
Py = PGy x l:| w
(3)
PS
p=l ]
C;X
Gy = |:|
GS PS PX
GX
(4) d
[ ]
(5) ]
2 P
é/an P—i x G
5 ( )
(1)
]
(2)
®3) ]
]

2n

G
S 3 Ps
SW
- >
: G, Py

.

45
10 90

(AB009-6)



